
SAP ABAP table REOR_RESERVATION {Reservation (VIORRS)}

REOR_RESERVATION

OCCUPANT [CHAR (10)]

RSOBJTYPE [CHAR (2)]

RSTYPE [CHAR (2)]

RSRECGUID [RAW (16)]

RSRESPONSIBLE [CHAR (10)]

TZONE [CHAR (6)]

BUT000

CLIENT [CLNT (3)]

PARTNER [CHAR (10)]

 REOR_RESERVATION-OCCUPANT = BUT000-PARTNER 
0..N

0..N

TIVORRSOBJTYPE

MANDT [CLNT (3)]

RSOBJTYPE [CHAR (2)]
 REOR_RESERVATION-RSOBJTYPE = TIVORRSOBJTYPE-RSOBJTYPE 

0..N

0..N
TIVORRSTYPE

MANDT [CLNT (3)]

RSTYPE [CHAR (2)]

 REOR_RESERVATION-RSTYPE = TIVORRSTYPE-RSTYPE 
0..N0..N

TTZZ

CLIENT [CLNT (3)]

TZONE [CHAR (6)]

 REOR_RESERVATION-TZONE = TTZZ-TZONE 

0..N

0..N

VIORRSREC

MANDT [CLNT (3)]

RSRECGUID [RAW (16)]

 REOR_RESERVATION-RSRECGUID = VIORRSREC-RSRECGUID 

0..N

0..N


